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Exercise 1 (30 credits)
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Question A (3 credits)
Complete the Balance sheet as of January 1, 2013
	
Trucks in lease: 6/8 * 371.109 = 278.332
Lease obligation: 3,8887 * 80.000 = 311.096
Retained earnings: 2.085.332 – 1.657.596 = 427.736 




Question B (3 credits)
Calculate the allowance for uncollectible accounts in the balance sheet at December 31, 2013 in and calculate the uncollectible accounts expense in the income statement in 2013.
	
Allowance: 170.000 * 0,02 + 50.000 * 0,10 + 20.000 * 0,5 = 18.400

Expense: 18.400 – 18.000 + 0.9 * 44.000 = 40.000





Question C (2 credits)
Calculate the sales in 2013.
	
240.000 – 130.000 + 2.100.000 + 44.000 = 2.254.000








Question D (3 credits)
Calculate the Accounts Payable trade in the Balance sheet on December 31, 2013.
	
Purchases: 720.000 – 475.000 + 0,4 * 2.254.000 = 1.146.600

Accounts payable: 175.000 + 1.146.600 – 1.300.000 = 21.600








Question E (15 credits)
Complete the Balance sheet on December 31, 2013 and the Income statement for 2013. Use the blank sheet on page 7 for your calculations.
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Question F (4 credits)
Prepare the cash flow from financing activities.
	
Re-issue of treasury shares              19.000
Repayment of lease obligation        - 36.447
Repayment long term debt           - 100.000
Dividends paid                            - 170.000   

Total                                           - 287447














Calculations question E:
	
Truck in lease: 5/8 * 371.109 = 231.943
Accounts receivable trade (net) = 240.000 – 18.400 = 221.600
Long term debt: 800.000 – 100.000 = 700.000
Interest payable: 700.000 * 0.06 * ½ = 21.000
Lease obligation: 3,4331 * 80.000 = 274.648
Income taxes payable: 172.115 – 70.000 = 102.115
Additional paid in capital treasury stock: 19.000 - 18.500 = 500
Retained earnings: 427.736 + 516.344 – 170.000 = 774.080

Cost of goods sold: 2.254.000 * 0,4 = 901.600
Depreciation expense building: 920.000 – 900.000 = 20.000
Depreciation expense truck: 1/8 * 371.109 = 46.389
Salaries expense: 25.000 -16.000 + 460.000 = 469.000
Interest expense long term debt: 24.000 + 21.000 = 45.000 
Interest expense lease obligation: 311.096 * 0,14 = 43.553
Income before taxes: 2.254.000 – 1.565.542 = 688.458
Taxes expense: 688.458 * 0,25 = 172.115
Net income: 688.458 – 172.115 = 516.344


















Exercise 2 (30 credits)

Question A (10 credits)
On January 1, 2012 Wayne Enterprises issued a five-year convertible bond with a face value of € 2,500,000. In total 2,500 bonds of € 1,000 are issued. The face interest rate is 9 per cent per year. Interest is payable semi-annually on June 30 and December 31. The bonds were issued for € 2,403,725 implying a market interest rate of 10 per cent per year.

The effective interest method is used to amortize the bond discount. Wayne’s accounting year ends on October 31.

Show your calculation of:
1. The first interest payment at June 30, 2012 (2 credits).
2. The interest expense at June 30, 2012 (2 credits).
3. The amortization of the bond discount at June 30, 2012 (2 credits).
4. The accrued interest expense at October 31, 2012 (2 credits).
5. The interest expense at December 31, 2012 (2 credits).

Please round off your answers to whole Euros.

	
1. Interest payment at June 30, 2012: € 2,500,000 * 0.09 * ½ = € 112,500



	
2. Interest expense at June 30, 2012: € 2,403,725 * 0.10 * ½ = € 120,186



	
3. Amortization of bond discount at June 30: € 120,186 – € 112,500 = € 7,686



	
4. The accrued interest expense at October 31, 2012:
Amortization of bond discount at June 30: 120,186 – 112,500 = € 7,686
Carrying value of bond at June 30: € 2,500,000 – (96,275 – 7,686) = € 2,411,411
Accrued interest expense at October 31: € 2,411,411 * 0.10 * 4/12 = € 80,380


	
5. The interest expense at December 31, 2012:
Amortization of bond discount at June 30: 120,186 – 112,500 = € 7,686
Carrying value of bond at June 30: € 2,500,000 – (96,275 – 7,686) = € 2,411,411
Interest expense at December 31: € 2,411,411* 0.10 * 2/12 = € 40,190





Question B (20 credits)				
The stockholders’ equity section on January 1, 2012 of LexCorp is shown below:

Contributed capital
 	Common stock, €2 par value, 500,000 shares authorized,
	400,000 shares issued and outstanding			   800,000
	Additional paid-in capital					3,480,000
Total contributed capital					4,280,000
Retained earnings							2,740,000
Total Stockholders’ equity						7,020,000

Stockholders’ equity events for 2012 are as follows:

a. The board of directors obtained authorization to issue 100,000 preferred stock, €100 nominal value, 4 per cent per year noncumulative.
b. Purchased 5,000 shares of common stock for the treasury for €45,000.
c. Issued 25,000 shares of preferred stock, €100 nominal value, for €100 per share.
d. Issued 5,000 shares of common stock for land with an asking price of € 100,000. The market value at the date of the transaction was €18 per share. 
e. Sold 2,000 shares of treasury stock for €25,000.
f. Declared a cash dividend on the preferred stock for a full year and €0.80 per share on common stock.
g. Date of record of cash dividend.
h. Sold 3,000 shares of treasury stock for €18,000.
i. The board of directors declared a 2 for 1 split on the common stock.
j. Declared a 5 per cent stock dividend on common stock. The market value on the date of declaration was €7 per share. 
k. Paid the cash dividend on preferred stock and common stock.
l. Closed the income summary account. Net income for 2012 was €970,000. 
m. Closed the cash dividends declared account and the stock dividends declared account. 

Prepare the appropriate journal entries to record the events. Please skip a line between the different journal entries. State explicitly if no journal entry is needed. The chart of accounts is added at the end of this exercise. Use only these accounts in your answers.

	LexCorp, Journal 2012

	no
	Account
	debet
	credit

	a.
	No entry
	
	

	
	
	
	

	b.
	Treasury stock, common
	45,000
	

	
	@ Cash
	
	45,000

	
	
	
	

	c. 
	Cash
	2,500,000
	

	
	@ Preferred stock
	
	2,500,000

	
	
	
	

	d.
	Land
	90,000
	

	
	@ Common stock
	
	10,000

	
	@ Additional paid-in capital
	
	80,000

	
	
	
	

	e.
	Cash
	25,000
	

	
	@ Treasury stock, common
	
	18,000

	
	@ Paid-in Capital, Treasury Stock
	
	7,000

	
	
	
	

	f.
	Cash dividends (25,000 * 4 + 402,000 * 0.8)
	421,600
	

	
	@ Cash dividends payable
	
	421,600

	
	
	
	

	g.
	No entry
	
	

	
	
	
	

	h.
	Cash
	18,000
	

	
	@ Treasury stock, common
	
	27,000

	
	@ Paid-in Capital, Treasury Stock
	7,000
	

	
	@ Retained Earnings
	2,000
	

	
	
	
	

	i.
	Memo: 2 for 1 stock split common stock, new € 1 par value, 810,000 shares issued and outstanding. Also correct: No entry
	
	

	
	
	
	

	j.
	Stock dividends (810,000 * 0.05 * 7)
	283,500
	

	
	@ Common stock distributable (810,000 * 0.05 * 1)
	
	40,500

	
	@ Additional paid-in capital (810,000 * 0.05 * 6)
	
	243,000

	
	
	
	

	k.
	Cash dividends payable
	421,600
	

	
	@ Cash
	
	421,600

	
	
	
	

	l
	Income summary
	970,000
	

	
	@ Retained earnings
	
	970,000

	
	
	
	

	m
	Retained earnings
	705,100
	

	
	@ Cash dividends declared
	
	421,600

	
	@ Stock dividends declared
	
	283,500

	
	
	
	

	
	
	
	

	
	
	
	

	LexCorp  Chart of Accounts

	Account Number
	Account Name
	

	
	
	

	100
	Assets
	

	
	Accounts Receivable
	

	
	Cash
	

	
	Interest Receivable
	

	
	Land
	

	
	Organization Costs
	

	
	
	

	200
	Liabilities
	

	
	Accounts Payable
	

	
	Bonds Payable
	

	
	Cash Dividends Payable
	

	
	Interest Payable
	

	
	Unamortized Bond Discount
	

	
	Unamortized Bond Premium
	

	
	
	

	300
	Stockholders’ Equity
	

	
	Additional Paid-in Capital
	

	
	Cash Dividends
	

	
	Common Stock
	

	
	Common Stock Distributable
	

	
	Income Summary
	

	
	Paid-in Capital, Treasury Stock
	

	
	Preferred Stock
	

	
	Retained Earnings
	

	
	Stock Dividends
	

	
	Treasury Stock, Common
	

	
	
	

	400
	Revenue
	

	
	Bond Interest Revenue
	

	
	
	

	500
	Expense
	

	
	Bond Interest Expense
	

	
	Organization Expense
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VII

On December 31, 2013, the value of the following balance sheet items are provided:

Building 900,000

Trade inventory 720,000

Salaries payable 25,000

Accounts receivable trade (gross) 240,000

The analysis of accounts receivable by age shows the following:

Customer account

Not yet Due

1-30 Days Past Due

31-60 Days Past Due

Over  90 Days Past Due

Total 240,000 170,000 50,000 20,000 0

Percentage considered 

uncollectible: 2% 10% 50% 80%

VIII

The Cost of goods sold is 40% of the Sales

The Income tax expense is 25% of the income before taxes.
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Balance sheet on December 31, 2013

Assets: Liabilities:

Building 900,000Long term debt 700,000

Trucks in lease 231,943Accounts payable trade (D) 21,600

Trade inventory 720,000Salaries payable 25,000

Acc rec trade (gross) 240,000 Interest payable 21,000

Allowance uncol acc (B) 18,400 Lease obligation (trucks) 274,648

Acc rec trade (net) 221,600Income taxes payable 102,115

Cash 195,400

Shareholders Equity:

Common stock 300,000

Additional paid in capital 50,000

Add. paid in capital treasury stock 500

Retained earnings 774,080

Treasury stock 0

2,268,943 2,268,943
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Income statement for 2013

Cost of goods sold 901,600Sales (C) 2,254,000

Depreciation expense building 20,000

Depreciation expense trucks 46,389

Uncollect accounts expense (B) 40,000

Salaries expense 469,000

Interest expense 88,553

Income before taxes 688,458

Taxes expense 172,115

Net income 516,344
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Trading company Gronden Ltd is a private limited corp. Gronden Ltd imports solar systems 

from China and sells and installs these systems in the Netherlands.

The financial year starts on January 1 and ends on December 31.

Gronden ltd presents the balance sheet (in euro's) on January 1, 2013 as follows:

Assets: Liabilities:

Building 920,000Long term debt 800,000

Trucks in lease 278,332Accounts payable trade 175,000

Trade inventory 475,000Salaries payable 16,000

Acc rec trade (gross) 130,000 Interest payable 24,000

Allowance uncollect acc 18,000 Lease obligation (trucks) 311,096

Acc rec trade (net) 112,000Income taxes payable 0

Cash 300,000

Stockholders Equity:

Common stock 300,000

Additional paid in capital 50,000

Retained earnings 427,736

Treasury stock -18,500

Total 2,085,332 2,085,332

The following information is disclosed with respect to 2013:

I

Gronden ltd leases the trucks. The start date of the lease contract was January 1, 2011.

The annual lease term (payment date December 31) is 80,000

The total lease period is 8 years of which 6 years remain on January 1, 2013 

The estimated residual value of the truck is zero at the end of year 8.

Gronden Ltd uses the straight line method for depreciation.

The interest percentage of the lease contract is 14%.

The present value of all lease terms at the start of the lease contract is: 371,109

You can use the following present value table for your calculations.

years Present Value Factor (interest 14%)

1 0.8772 This table gives the

2 1.6467 present value of € 1

3 2.3216 received EACH period

4 2.9137 for a given number 

5 3.4331 of periods.

6 3.8887

7 4.2883

8 4.6389
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II

The interest on the Long term debt is 6% per year. The interest will be paid yearly,

in arrear, on July 1. The remaining debt will be repaid in 8 years in equal amounts each 

year, also on July 1.

III

The Accounts payable trade refers to unpaid invoices of the Trading inventory. All

purchases are on account.

IV

The Accounts receivable trade is composed of:

Accounts receivable trade (gross) 130,000

Allowance for uncollectible accounts 18,000

Accounts receivable trade (net) 112,000

All sales transactions are on account. Gronden Ltd uses the accounts receivable aging

method to estimate the Allowance for uncollectible accounts.

When it is evident that a client will not pay due to bankruptcy, the loss will be deducted

from the Allowance for uncollectible accounts.

During 2013, one customer went bankrupt. The gross value of this invoice

was € 44.000. Out of the liquidation revenues of the assets of this customer, 10% of the

gross value was received from the trustee.

V

All Treasury shares were re-issued to new shareholders during 2013.

VI

The table below gives a summary of all cash receipts and cash expenditures

during 2013:

Receipts Expenditures

Payments on Accounts receiv. 2,100,000Payment on Accounts payable 1,300,000

Payment from trustee 4,400Salaries paid 460,000

Re-issue of Treasury shares 19,000Lease term paid 80,000

Interest paid long term debt 48,000

Repayment of long term debt 100,000

Dividends paid 170,000

Income taxes paid 70,000


